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1] 33651144|5-Uny n/h Ne50 uhwpopuniht < [hwp 24,00 7200[ 300
2| 33661158|Unpkwihuh hhnpnpinphn . 0,18% Ne10 bwhuti$phts (kwhutbphuh hhnpnunwpunpwin) A< fupduily 129,00 15480 120
3| 33651125]|Ughdwl n/uy 250dg N6 wghppndhghts 9<  |hwp 190,00 9120 48
4]_33651125Ughuiuwily n/uy 500uq N3 wahppndhahl % [hin 306,00 36720] 120
5| 24321590|Ujpnighn 20% Suj Ne1 unybwgbinwidhn G |ppulynu 0,00 2
6] 24321590|Ujpnighny thnoh 0,5g Ne10 unydwgtitnwidhn, A< [thwplp 0,00 100]
7| 33611110|Udwigty U 1700 wynwhthnwh hhnpopuhn, dwqtiighnuh hhnpopuhn,
phlianbunhl < [hulynu 0,00 15
8| 33670000]Uyinb opuinuly 5% 1250 wnninun nnuinn. 3¢ [punu | 650,00 6500 10
9| 33611240/ Udnitu wiywhdwaywd n/h 0,25g N210 wéniu whinhjwgdwd 9< [hwp 3,00 2400[ 800
10| 33691185|Uyinnylights . 80dqg 2u) Ne25 hnpeh wpwl uwhunwlynqugbnd wwugw G< |upguly 428,00 42800 100
11] 33691185|Uhinnytightt Hnpwnk n/h Ne50 hnpph wpjwb uwhnwlingugbind wdwlgiw 9<_ |hup 210,00 315001 150
12| 33631370|Uynindhy 50dq/50; jmd W/b b/ubip 50 Ne10 wnpwlyniphnd (wnpwlniphnw] G upuly 1500,00 30000/ 20
13| 33621160|Udhunywwpnuwpent jndnyp 5% 2504; wihunywwnpnbwpent G< [Duuynt 420,00] 12600 30
14|_33621390|Ushnnwipnt n/h 200g N230 wdhnnwipnt < Jhup 80,00 31200] 390
15| 33621740|Udn u n/h 10dg N30 wdjni uh ptighjwwn 9<_ |hup 34,00 30600| 900
dopupghiht (wdopuhghihtih tiphhhnpuwi),
16| 33651112{Udnpuhlyjwy] n/Yutunyp 156,250g/54] 1004 e m
R e el : ouulr (Lunhnuth ousdnuwbunn < |Dwynt 1095,00 43800 40
17| 33651112{Uinluhlyun] 312,50q/50] $npunb 1004 wdopuhghihts (wdopuhghihth tphbhnpwitn),
e : nunuubween: (bushnuth oulnuwbunn S sl HI1695.00 LOtEe). S5




18| 33651111{Udnpuhghiht opwpwl 250da/5d) 1004 wiopuhghiht (wdopuhghihtih nphhhnpwin) 3 [huynu 778,00 15560 20
19| 33651110[Utiwhahiht 4/ W 0/8 upy. 0,5 wiiwhghihth inhhnpwin Q< [y 110,00 18700 170
20| 33651110{Udiwh-$hyyn n/wy 500dg Ne10 wiwhghjhup tnhhnpuin < |hwp 0,00 700
21| 33661127|Utwjghts . 50% 2uj Ne10 dbitnwihany (kunwdhgng bwwnphnud) A< upduly 31,14 74736 2400
22| 33661127|Utwight n/h 500dg N¢10 dtinwihgny (dEnwdhgng bwwnphnud 9<  |hwp 8,00 16000 2000
23| 33621680|Utiwuyphihti n/h 40ug Ne50 nunwbining a<_ [hup 3,00 750|250
nbpjuihtibnu (nbpyuwihtihnwh pinphn), Luopunint,
24| 33670000|Uughtunywg 204 gnnuohp hhnnnunnmhqnb (hhnpnynpunhgntip wghmwm)
e faess i hin filvia e bl \ Q< |hunn 2470,00 12350] 5
25| 33621650{Uunign| dndhly Ne10 pubipn$nnd, shlwinwlh hwtinidy, ghtly (ghulyh unyHwin) ac  |anany 0,00 60
26| 33661000{Uuniw u w jnidny Uy 304; G<  |prulnt 0,00 20!
27| 33651112|Uniqubtiinht nih/u 1,2g Ne10 wiopul U, bwihnuih pjudnywbwn Q< |rulnt 1300,00 182000 140
28| 33651112[Unigdbiiinhty n/h 625dq Ne14 wiopul U, Ywihnwh pjudnywitiwimn < |hwp 119,00 48314 406
dbnywenyt unwunupunwgyws, wih; hqnehnghwlwwn,
29| 33632100({Uwhquepnt puntly 20q. P e bt 0,00 7
30[ 33621140|Uwn-Y4nujhnngnti n/h 75dq N30 inwhnngnip 9<  |hwp 93,00 27900| 300
31| 33611350|Uulynpphtiwppnt wiw. 5% 2d) N¢10 wulnpphuwppnt 9 fupyuly 24,89 105782| 4250
32| 33611350{Uulynpphtwppent Syinynguinyg n/h 0,1g Ne10 wulinpphtiwppnt, gjiniing < |hwp 0,00 600
33| 33611350{Uulynpphtiwppent n/h 500dq N=20 wul ;ngghhw@ﬁ 9<  |hwp 27,40 9864 360
34| 33661121|Uuwhphtu Ywpnhn n/h 300dg N220 wabwnhjuw; nL 9<  |hwp 0,00 400
35| 33660000]Uwnwpwpu p/u) n/h 25dg N<25 hhnpopuhght hhnnoguhqhhh hhnpnpinphn) < |hwp 43,20 24840 575
36| 33621710]Uwnkunini n/h 50dq N230 winbiunin 9<  |hwp 4,07 170E| 420
37| 33661157 |Uwnpnwht 0,1% 14 N 10 wwnpnwht (wunpnwhth unybwn) Q< |upquily 54,00 18900 350
38| 33621420[Uwnnphu p/w n/h 20dg N230 winnpywunwinht (wnnpywunwinht Yuighnud) < [huwp 34,50 19665 570
39| 33621420|Uwnnphu p/w n/h 10dg N30 winnpwuwnwinhl (winnpywunwnht Yuighnud) 9 |hwp 31,00 7440[ 240
40| 33631350|Upnnuwut 4dg Ne25 whwbynipnthnudh ppndhn Q< |upuly 0,00 25)
41| 33621600|Uph$nt ntnwpn, 1,50 N230 unwwwdhn Q< |hwp 48,48 5818| 120
42| 33691193|Upinhywyhtp hhnpnpinphry 1:100000 204 Ne1 wpunhluihu(wpunhyuhtp hhapnpinphn), fyhubi$pht < |puulnu 1540,00 30800] 20
43| 33632100 Upwpw n/e 5000g+5001q, wjwuwnhlyt upywlubp |gyniynquidhtih hhapnpinphn, twnphnudwlwt
2100 huntinnnhinhtih unubunn 9<  |hwp 118,75 23750 200
44| 33661121|Ugtinhjuw wppent n/h 0,5g N210 wgkinhjuwhghjw-pRnt 9< [huwp 5,80 23201 400
45| 33661151|Ughlyndhp puniy 5% 5q. wghlyjndhp 9<  |wwplynis 0,00 12
46| 33691140|U88 n/thnoh . 200dg N<20 wgbinhjghuwnbht < |hwplp 106,25 6375 60,
47| 33691140|U838 jnidunn n/h 200uq N220 wghin uwnbih < |hwp 98,65] 19730[ 200
48| 33651400|Unphnn; 100dg n/w N 10 nuih$liin nuihbbiuni hhnpnpinphn) 9<_ |hup 0,00 200
49] 33651131 Pwlunhi-240 oownwl 240dg/54) 1004 unybwibpopuwgn|, wphdtienwphd Q< |ppulnt 1300,90 26018 20
dbnwihgny (dinwdhgnih bwinphnudwwt
50| 33661125|Pwpwigbnwu 5] J/d u/t N5 dnbnhhr}nmm), whinn$btinti (whnnbtinth
hn\ $Erubilbnbbibhonth nnmthn, < |upuily 145,00 66700 460
51] 33651114 Pkl L51¢] U /u 1000000UU nhhqb whlihghihuh bwwnphnd 9L | bt 70,00 10500 150




52| 33631230|Pbunwnhu nidnye 22hly 10% 304 wnyhnnlu inn ST KT 600,00 6000 10
53] 33631230|Rbwnwinnhu jnidnype 22hly 10% 1y wnuhnnu inn a< | 4200,00 63000 15
54| 33631230|Ptwnwinnhu jndnupe 27hly 10% 604; wnydhnnt nn. 9<  |puynu 870,00 26100 30
55| 33691189|PLwnwubpl n/h 24da N260 phnwhhuwnpt (pbnwhhuinhtuh hhnpnpinphn) 9<  |hwp 67,60 12168| 180
56| 33621520 ENthwnh wynw 10725 N=30 Fuwwwnhy (Fuwwwphih dwibwn), hhnpnpinpnehwaghn
< |hwp 19,00 6840 360
57| 33610000|Phuwlynnhj undhy Ne10 phuwlnnhy Q< |dndhy 48,36 6770 140
58] 33651131{Phubuunn n/h 480dg N220 unybwibipopuwan, nnhdbpnwnhy G<  |hup 11,49 7583] 660
so| 33671123|Armbgunguht 41250 quunight (quunighuh hhnpnppndhny), Eptinphu
pnufunihinht owpw 1 b h n
(tpbnnhuh hhnpnpinphn) S 52100 18238 35
60| 33671126|Ppnihbipuhti 8 Pnjhu-LPhdh 8ug Ne 25 ppndhbpuht (ppndhbtipubb hhnpnpinphn) 3 |hup 2,86 858| 300
61] 33661115|Pnuwhywlwiht Uuhtiw) 0,5% <bdh 4d) Ne5 pruyhywlwiht (pruwhywbwihtih hhnpnpinphn) A< |upyuly 1446,58 72329 50
62| 336600008 dwqubghnu ginunwdwnh hhnpnppndhn, quddw-
wdwjwwn B6 wihtwlwpwquwpeent, quidw-wdhuw-phnw-
hhnhnnn%‘lnhlrn.:ur?unriflannnc} .lhmunigf: RA pmw < fhup 165,00 33000] 200
63| 33670000|9tinkjhyu hwgh hwdwp 100 4j pwnbin unynpwbwy a<  [pulnu 1641,51 73868 45
64| 33661150 kunwihght . 4% 80da/2d) Ne10 gbuwnwdhght (gkunwidhghuh unybuwin) 4<  fupyuy 63,96 12792| 200
65| 33691176{%bnswyh jnin 304; gbipswly 4<  [puynt 0,00 10
66| 33640000|9huhwpw /b .10dYya./2d; N25 htipunwpbuwihu (hbipunwpbuwihtuh unyduwn) a4l |upduly 447,49 447491 100
67| 33640000|9huhwpw; 0,50q N=20 hbpunwpbuwiht (hbpunwpbbwihth uny$win) < jhwp 0,00 120
68| 33660000({%hwwnhiht . 10004qg 44 Ne3 funiht wy$nugbipwn G<  |upquy 3500,00 52500 15
69| 33661000{%hghutin n/h 0,1g N250 athght 9<  |hwp 0,00 150
70| 24961400|{%hgbiphu dndhy 1g N210 glhatipn| Q< |dndhy 131,04 11794 90
71 24961400|Yhgbphu dndhy 2,11g N210 qthgbipn a<  [undhy 89,39 22348| 250
72| 24961400|%hgtiphu 30g qthabipn q<  |pwynu 0,00 10
73] 33691138|9nlynqu 40% Suj N10 nbipunpng Q< |upquly 34,40 5504 160
74| 33691138| % iniunqu 5% 2504 nbpuwnpng  (ntipuinpngh dnunhhnpwn) < u/thwp 156,00 124800 800
75| 33691138|%yntynqu 10% 2004 nbipunpng < |wy/thwp 420,00 6300 15
76] 33691138|9niynqu 5% 5004 nbpuwnpng  (nbiputnpngh dntinhhnpwn) ac  |uythwp 162,00 106920 660
77| 33611300|9ynynqwtiu n/h 500dq/2,5dq N30 alhptiuywihn, dbndnpdhu (daindnpdhuh hhnpnpinphn) 9 |hup 51,97 15501 300
78] 33611300]Fynynywtiu n/h 500dq/5dq Ne30 gihpbuywdhn, dGindnpdht (dEndnpdhuh hhnpnpinphn) - hup 55,45 16635| 300
79| 33621100|Ybiwwphtu puniy 25 q hbwwphu (hbwwpht bwnphnd) 4<  Juwnlynié 0,00 7
80| 33611450|1b-Ln) 120da nh/pw N256 phudnieh nphywihnwWwlwl nhghunpwin 9<  |hwp 73,00 24528| 336
1951877
81] 33661129|Mbwwlyhu ppnun 300dg  Ne100 uwinphnwh Jwjwpnww, Jwiwpnwppnt 9<  [hwp 62,00 18600f 300
82| 33661129|tbwwbhu ppnun  500da ~ N2100 Uwwnphnwh Jwjwpnwn, Jwiwpnuwpent 9<  |hwp 150,00 45000 300
83| 33691212 Nhwnpwibpu N 60 nh/pwnwlpwwwwn nhnudht, hbuwbphnht G<  |hwp 95,00 85500 900
84| 33661153 ipuwdbpwgnu 0,5dg n/h Ne50 nbipuwdbpwgnu 9<  |hwp 0,00 50




nbpuwdbpwgn (nhpuwdbpwqnuh bwwnphnidwwu

85| 33661153|Mhpuwdtipwignt 4dg/d] 16| Ne10 o ac |ungu 64.00 512000 800
86] 33661153 Yhpuwdbpwgnu whuwlhwpeh) 0,1% 1dg/d) 54 ntipuwdbpwgnu Q< |upuy 659,00 3295 3
nunbnnu nintipnuh wabinuwin),
87| 33641000|hwut-35 n/h Ne21 ggrhf’h‘m':nmrii:‘:"‘ pntih wg ) oc | 31119 w070l 40
88| _33611280] thwpbuint U 60dg. N=30 aihlywahn aC | 125,34 37602] 300
89| 33661136 Yhwqbiwwd 5dg n/h Ne24 nhwqbiwywd 9<  |hwp 0,00 96
90} 33621440|Yhpwan) 1% 2u; N210 pbUnwan| (pEunwgnih hhnpnpinphn) A< jupdul 0,00 500
91] 33621380| thanpuht n/h 0,25dq N250 nhgopuhl q<  |hwp 5,90 2950[ 500
92| 33621690| Hhywwnpbun n/h 25dq Ne30 Ywpybinhng < |hwp 35,39 23357 660
93] 33621690|thjwwnpbiun n/h 12,5 dg N230 LYwpdbknhing G<  [hwp 29,00 8120} 280
94| 33631310|Hhlywl nnunnn 5% 50q. nhbindbuwl (nhyindEuwl bwinphnid) < |wwplyni§ 900,00 22500 25
95| 33631310/ Yhlyndtuwl 75dq 3d) N5 nhlyn$btwl (nhlyndbuwl bwwnphnul) < [upquly 80,00 56000) 700
96| 336313101thyndbuwl n/h 50dqg N220 nhiyindbuwl (nhumndbtiwl twwnphnud) Q< jhwp 14,55 2910 200
97| 33631310|Hhlyinbuwly Undhly 50dg Ne6 nhln$btwl twwnphnud < [undhy 88,97 5338) 60
98] 33671130 thubtinpn; 1% 1dj Ne10 nh$buhhnpwipht (nh$tuhhnpwidhth hhnnnpinphn) < |upguy 21,78 76230) 3500
99| 33691202|thghunu . 250ug 24; N250 Frnwdghiwin < lupduly 172,88 95084 550
100| 33631360|Yhehihtt 200a/d) 54) Ne10 unipuwdbpnuhnwh jnnhn < [updwy 259,00 28490 110
101] 33651100 Yhopuhnht  500q/54; Ne10 nhopuhnhu < (upquly 0,00 50
102] 33611460] Wnwwwwwht 200dg Ne 30 dbpubphuh hhnnnpinphn d<  |hwp 174,67 20960| 120
103| 33611180 Hnibwiwl oowpwl 2004 jwlwinnyng A< |prwynu 2060,00 30900 15
104] 33611180] Lnbwjwl oownwly 5004 jwhuwinyng A< [$uynu 4000,00 60000 15
105| 33641310| Hni$wuwnnti n/h 10ug N220 nhnpngbunbipnt Q< |hwp 225,00 81000) 360
106| 33622000/ Hnpnunwdhtu <bpuwi 1nd Yup/ubn 250da nth nnpnunwdht (nnpnunwdhuh hhnpnpinphn) Q< [upqul 4990,00 49900 10
107| 33621400|Hnwwihu 40 dg 5 4 N 10 nnuwwiht {(nnuwdhth hhnpnpinphn) 4<  [puynu 750,00 22500 30
108] 33651141|2huwgtd 750dq _ mh/ubp gtibnipopuhd (gE$nipopuhdh bwwnphnid) G<  |pwynu 1018,00 20360 20
109] 33631240|2hnhu Undhy 16dg N<10 pinphtipuhnht (pinphtipuhnhuh phainiyntiwin) 9<_ [undhy 0,00 30
110] 33631270{2dpnifuniw Ywuws 1% 104) wnwdwlnjw Yuwbws 9<  |hunn 0,00 15
111]  33631270]|2dpnifutniw Yuliws 2% 104; wnwdwlnjw Yubws q<  |hwwn 0,00 20
112] 33621700{Eghiny dhwnnwpnin; (JEinnwpninh tnwpwnpwin) < |hwp 19,50 2925 150
113] 33621760 Euwjwwpnhy n/h 10dg N220 Fuwjwwnhy (Fuwjwwppih dwibwun) < jhup 5,75 805 140
114] 33621520|Euww-< n/h 10dg N=20 Fuwpwwphy (Fuwwwphih dwibwn), hpnpnpinpnphwghn| hup 20,00 8000l 400
115] 33642230|Enuehpnpu n/h 500l4q N2100 unphpopuhth Lwinphnid < {hwp 13,50 16200 1200
116]  33671114{Enibhih . 2,4% 50) N=10 wdhun$hihu < |upyuil 37,42 29936| 800
117 33671114{Enibhiht n/h 0,15 N=30 wihundhihl < [hwp 4,00 919‘21?2 120
118]_33691191| Eubiughuwib . 50) N*5 Srubnihuhnubn (Fublghu)-EHL aC Jupday 546,80 51744] 80
119 33691191{tubiughwibi Snnwnb n/w 300dg N30 $nudnihwpnubip (bubighw)-ESL, < jhup 0,00 240
120| 33661000|Euljwpn Ywehjubp 304 Yuwnywlunin nbnwwnnywinébuh,wninidwah < |prubnu 0,00 15
121] 33651100|Ephepndhghtt 400dg Ne 10 Enhepndhght Y 49,90 5489 110
122| 33670000|Enbuww) oowpuly 1504 $Stuuwhphn (Sbuuwhphnh hhnnnpinphn) 4<  [plwynu 2526,00 25260 10
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123] 33141520|Ephepnghuniwp qugywd Ul |wwpy 0,00 10
1241  33141168|dwpy uwnbigwd wjwgdw Ul |wuwpy 0,00 18
. wwpwgbinwdng, $tiuhpwiht (ptuhpwdhup dwibwn),

125] 33671119 tipuipym thz. N10 (Ut Shuhitbnh (bEumEbnhuh hhnnnoinnhnd 4 |upte 0,00 100
1261 33611370{hwihu wduy. 5% 1d; N210 phwdhuh pinphn Q< fupduily 18,70 37400 2000
127]_33661156|(chunin| whuwlwehubp 0,5%54; phdnin {ehdninih Jwjbwuwn) < [hlwynu 430,00 8600 20
128] 33661113|(@hnwblwnw) bwwphnuwh upy. 1g phnwblwnw) (ehnwblnw; twinphnu) &< Junduwy 0,00 30
129] 33631290 hpnuwpndbu n/h 0,2q Ne10 hpnuynndhbt 9L |hwp 0,00 800
130] 33611200/ hdnnhnd n/u; Ne20 inwbipwdhn ((nwbpwdhnh hhnpnpinphn) a<  |hwp 0,00 60
131] 33631281 hunndbunwaght puniy 10% 40q hunndtitnwght A< |wywpyms 330,00 3300 10
132] 33611310ihtuunyhu Uhinpwuwhn jnd/utin 100U U/;, 104; htunyht Jwpnnt (nbyndphtwuwm YLIG) 9 |upyuly 0,00 5
133| 33651000|Pnn-Skp 5000} twwphnuh wgbinww, bwunphnwh pinphn, Yuwihnuh

pinphn, Ywighnuwih pinphry, dwqubighnudh pinphn < |wyhup 510,00 45900 90
134] 33661110{hgn$jnipwu_100% 1004} hbnniy stswndwl hgndinipwi A< |pwyn | 10800,00 4860001 45

wwlnnpwghinw wghnn$hini, phhonpwluntphng
135] 33691213|Lwlwin-2h n/wy N¢10 inignud, ph$hnnpwlpnbphnad ph$hnnud,

phbhnnowbinbinhnul hu$wlnhy Q< jhup 0,00 150
136] 33671125|Lwgniywu 15dg/54) oowpuwl 1004, wippopunih hhnnnpinphn < |plwynu 669,00 6690 10
137] 33631120]Lwdhghi uppwpunil 1% 15q inbipphuwdh < |wwplynis 0,00 5
138] 33691199|Lliquinti 140 140dq  Ne 20 uhjhdwpht G<  |huwp 0,00 80
139] 33642230{L-f¢hpopuhu 150 150dyg Ne 50 junphpopuht Uwwunphnd A< |hwp 21,00 6300] 300
140| 33642230|L-fehpopuhu 100 100dya N2 100 (unphpopuht bwwphnid q<  |hwp 14,90 11920 800
141]  33661116]Lhnnywiht hhnpnpinphn wdy. 2% 2d) Ne10 (hnnluwihu (thnnbwihth hhnpnpinphn) < |upquy 24,95 17465 700
142] 33661116|Lhnnywihuph hhapnpinphn wdw. 10% 2dj; N210 thnniwihu 9<  |upquy 94,40 14160 150
143| 33661116|Lhnnywihuh hhnpnpinphn gnnwighp 10% 38q thnnbuwiht 4<  |$lwynu 3307,00 49605 15
144] 33691213|Lhubipu n/uj N¢16 thn$hjwgywd Yhunwuh Ywptwppywiht Jwuntubn < [hwp 57,00 95760| 1680
145] 33621100(Lhnuinu-1000 nnunnn 30g hbwwpht (hbwwphu bwwphnud) 4<  fwwpynis | 2638,00 13190 5

. un un hhnpuww),
146| 33620000|Lhwpwghn 20 N=30 Lhﬂ’m;?nf‘nhr:gﬂ hn‘“f‘hlh nhhhnpwin) ac nur 15110 5306 360
147| 33641000|Lhguwnn| htiowingwiht dndhyubip 400da N5 Lbwnnlyntiwany &< Jundhly 0,00 20
148| 33631200|Lundhyn; puniy 40g pinpwddbuhny, dbphinipwghi A< |wwpynis 244,00 34160 140
149] 33651135]Lundhgbiwnhu n/h 0,50 N210 pinpwudbuhln {{undhgbunhu) 9<  |hwp 44,70 8940 200
150] 33661137|Lnpwgbwwd n/h 2dg Ne24 (npwigbiujwd 9<  |hwp 15,00 1080 72
1511 33631000|Lnphunbu-8 15q $inwbnwgn (binibunwagnuh whdwjww), pthnpdhung 4<  |wwpynié 0,00 S
977359

152] 33641000]hun$hunn; n/h 200dg N260 Ywulwnh snp hwundy 9<  |hwp 39,33 23600 600
153] 33651400|4wangb) 12dg  Ne10 Lugngty q<  |hwp 0,00 50
1541 24311480 4wihnuip whpdwuqwuwwnn 10gq < |hwphp 0,00 10
155] 33691134 4w hnuwih pinphn jnidnue 4% 1004 Ywihnuwh pinphn < [pruynu 380,00 13300 35
156] 33671135]4wighnuih pinphn wdw. 10% 54; N210 LJuighnudh pinphn < |upquy 37,50 9375 250
1571 33661111 Ywhwun) wdw. 50dg/J; 10d) Ne5 Yawnwdhu (Yewnwdhuh hhnpnpinphn) Al Jupduy 0,00 70




158| 33611341|4wgtdhy N30 buyghnw, dhinwdht D3, ghtly, wnhud, Jwuqwl, pnp 4<  |hwp 0,00 60
159] 33691231 [Uwighnid D3 Swdkynt n/h 1250dq/10d4g N=100 __|ywghnudh Ywppnbwwn, Jhinwihl D3 9<_ [hwp 50,00 54000 1080
160] 33611420[4w|ghnuwih gyntynbwwn n/h 0,5 Ne10 buighnuwh gjintyntiwn < jhwp 6,00 4200{ 700
161] 33611420 4wighnwh gyniyntiwn 10% 54; Ne10 Yuighnwih gyniynbiwwn G< |upyuy 72,00 50400 700
. nuytihwqupniyp funw, pwodh wpdwntbp,

162| 33640000|4wubbpnt L nh/puy Ne60 u BAUPAD [ oc  |hun 65.50 roes0l 300
163] 33621510{4Ywwinnwph; n/h 25dq N240 Ywwiinnwnhi 9<  |hwp 3,90 3800| 1000
164| 33691187 |4wdhuwnu wdw. Sda/d; 2d) N210 yhuwngbinpl < fupduy 0,00 220
165| 33691187 4wyhuwinu n/h. 10dg N30 yhuwngbunhl q<  |hwp 86,67 20800[ 240
166] 33141164]4wwpndbip 947dg/uj+24dg/d;, 304 bplweh pinphn{il), Ewuhinu-widhtwlwwpnwppnt A< |dpuynu 0,00 0 5
1671 33661117 4wwndwiuninh hwunty n/h p/u N250 Yuwwndwunuinh hwuny A< |hwp 1,65 9075| 5500
168] 33691201 |4Ywwnywiuninh ngtipnipd 200dg/d, 304) Ywwnywlunwnh hwniy q<  |hwynu 157,00 4710 30
169] 33621740[4wnnhinwht n/h 5dg N230 wdinnhwht 9<  |hwp 10,00 78001 780
170 33621370[4wpnhlbwn NEnwpn-40 n/h 40dg N=50 pgnunpphnh nhuhwnpwin G<  fhwp 44,00 11000 250
171] 33661121 “4wpnhn-UU n/h 100dg N220 wgbiinhjuwihghjw-pRNL < thwp 19,00 1900) , 100
172| 33621761|4Ywpnhndwguhy n/h 150dg N2100 wabnhjuwihghjw-pent, dwgtbighnuh hhnpopuhn G<  fhuwp 27,30 8190 300
173] 3362176114 wpnhndwath; n/h 75dg N2100 watinhjuwihahjw-prnt, dwgtbighnuwh hhnpopuhn < |hwp 20,70 14490 700
174 33691199|4wpup) Snpink n/uy 90dg N30 uhjhdwpht q<  |hwp 88,77 10652 120
175]  33671131]4jwphwnpu n/h 10dg N210 (npwinwinht < |hwp 21,85 3277 150
176] 33651123|Ywbnpw n/th 1a gbibnunwpuhd (gEbninwpuhd bwnphnud) 9<  |pruynt 0,00 30
177 33691112|4hnt-+ N 10 dbwnpnupnwany, dhynuwgny (dhinbwqgnih thinpwun)

metronidazole. miconazole (miconazole nitrate) 4<_ |hwp 0,00 30
178] 33651148|4ninphdwan) hbiouning. dndhl 100dg N6 Yinuinphdwgny q<  |dndpy 600,00 18000 30
179] 33651148|4inunphdwgny uppwpunwy 1% 20q Yinunphdwagny < |wwplynd 188,00 3384 18
180] 33622000]4nlwppnpuhjwqw wdw. 50dg 2dj N=5 Ynbwppopuhjuig (Unbwppopuhjwah hhnpnpinphn) 9<  Jupduy 179,00 8950 50

nhuwwphnuwwwl wnbunght tiphdnudwnh
181]| 33620000{4nlwpuhwn 3dg N 3 wiphhhnpww, Ynlwnpopuhjwg, ghwlnlnpuwiht,

Lblininbtuuthn 4 |upquly 0,00 30
182 33621720|4nulynp n/h p/uy 10dg N230 phunwpnini (phunwpninih $nuwwpwin) < |hwp 29,00 16530| 570
183] 33621720|4ntiynp n/h p/w Sug Ne50 phunupnin (phunwpninih $niwpwin) 9<_ |hwp 20,00 6600 330
184| 33621720]|4nulynp Ynp n/h p/w 2,5dg N230 phunwpniny (phunwpninih hidhdnidwpuin) A< |hwp 15,00 4500 300
185| 33621150|4nuwlyhnu UU 2da/0,2d; N5 $huindbuwnhnu G<  jupduy 1300,00 130000 100
186] 33621330|4npnhwihu wdw. 25% 24| N=10 Uhlbpwdhn A< |upduly 123,00 12300 100
1871 33621390 4npnwpnu wdw. 50dg/d), 3] N6 wdhnnwpnt (wdhnnwnnuh hhnpnpinphn) ad  |upduy 700,00 63000 90

533583

wibw-ppndhgnywitipwppyh teh kuptn,
88| 33622000} nnipuint 304y Shunownphinwe, whwumbuh imn < [Hwynu 0,00 20
189( 33621340{Un$bhu-uwwnphnudh phugnwn wdw. 20% 13 Ne10 |4n$tht bwinphnuwih phugnun ac  lundul 37,50 5625 150
190{ 33661139|<winwybphnni-Nthfuinbp 5dg/d)  1d] Ne 5. hwinwtiphnn Q< |upduy 97,00 4850 50

Cwlwlwwnwnnipjuwt ywinwuwnwuynye d/d 1d) N5

191] 33651199 unduUkl:lmnah?J Pl e e l ac  |upguy | 6400,00 96000, 15

A



1921 33651197 | <wlwihwinwagdwi shny 1d; Ne5 Uhlpngbu 9¢  |upduy 3960,00 47520 12
193] 33651191 | <wlwpnunnihtiwihu shénty Q< |upuy 0,00 5
194] 33651000|{<wlwqwugpbung o2héniy 9 |upquly 126500,0 126500 1
195] 33621550[<wpunh;_n/h 10dg N:28 nwdhwphy a<_ |hup 80,00 1200|140
196| 33651400|<bluw)hg n/h N30 phlinwnhdny, Euopunin, jhunghdh hhnnpnpinphn Q< fhwp 52,90 4761 90
197 33640000(<bpuhlynt  htiginngwyht dndhyubn 16dg  Ne10  |pinphtipupnhuh BpYygyniyntwn ac  |andpy 0,00 30
N N wnipdhuppwhpnihnn, bwwphnwh pinphn, uihnuh
nnuq [pontjp L n

B oA, it e, o< |pwim | 850,00 10200 12
199] 33621100|<bwwphu upy. 54) Net hbwwpht (hbiwwpht Ywwnphnd) A< |upduy 900,00 144000] 160
200] 33691198|<bwwnw; wnbinyd n/h B/w wnbdbnhnuht A< |hwp 720,00 43200 60
201] 33621640|<hnpnynpuihgnu wluwpunip  0,5% 3q hhnpnynpunhgnu (hhnpnynpunhgnth wgbinwn) A< (ywpynié 749,00 7490 10
202] 33621640|<hnpnynpinhgnt punip 1% 10a hhnpnlnpunhgnu (hhnpnynpunhgnuh wgbunwin) 3<  Jwywpynib 0,00 10
203] 33621580|<hwnrehwghn n/h 250q  N220 hhnpnpinpnehwahn < hwp 11,70 1638{ , 140
204] 33621641|<bpuhinl 0,05 % 100 pinphbipuhnhuh Bplguntunuwwn < |dwynu 0,00 10
2051  33611110|Uwwjopu 2504 wjinuihup hphnpopuhn, dwgutighnuih hhnpopuhn < |pwynu 1700,00 17000 10
206] 33621610|Uwuhwng jnd U/u 10% 5004, dwuhwin 9<  [hunn 580,00 11600 20

. dwqutighnd (Jwqubghnud jwlunwunh nhhhnpww),
207]  33611341)Uwqli BE n/h p/uy N=50 whnhoopuhls (whnhnopuhth hhnanoinnhnd < |hwp 57,21 51489] 900
208| 33691145|Uwqubighnwih unybwwn wiw. 25% 5d; Ne10 dwaubghnwh unybuwin A< |upduly 31,11 27999 900
209} 33640000{Uwydhpnp Ynd. hbo.dndhly 5000q N8 Uhdnipwint), thunwiwnhy < |dndhy 0,00 16
210] 33642220|UGnnn; n/h 4dqg N230 dbiphjwpbinthgninu 9<  |hwp 67,00 32160 480
211] 33661159|Ubquwnu_10dg/d; 1d; N10 dtiuhiEdphu (dbuhiEdphup hhnpnpinphn) 9<  Jupduily 82,00 3280 40
212] 33611150|Ubkghd Snpwnk npwdh n/h p/uy 3500UU Ne20 wwlpbwwnht (huwq, wdhjwg, ypnnbwg) G<_ |huwp 33,10 66200, 2000
213]  33691112|Ubuinpwuhnwgn; Lhyndbn n/h p/wy 500dq N20 dbGunpnuhnuwgny < |hwp 44,00 24640 560
214}  33691112{Ubwipnuhnwan; n/h 250dq  N10 dbwnpnuhnwan < jhwp 5,10 510] 100
215]  33691112|UGwnpnuhnwagn; Heunw nnunnn 1% 20q dbinpnuhnuwgn) Q¢ |wwpymd 501,00 4008 8
216] 33691112|Ubinpnuhnwgny jnidnue 0,5% 1004 Net dhinpnuhnugny R (T 156,00 70200f 450
217| 33691188|Utipuhnn; 100dg/24) Ne10 Erhidtiphihhnpopuhwh-phnhth uniyghtiwin < |upquly 232,00 104400 450
218] 33631290|Uh9-400 n/h p/w 400ug N210 hpnuwypndbu 9<  |hwp 19,10 17190 900
219] 33661135|Uhnwgbd . 15dq/34) Ne5 dhnwgnjwy Q< |upquly 1350,00 13500 10
947160
] wnjwGnhgnt (nnjwtiphgnup hppnpinppn), ihnnjwip

220( 33631380|Uhnnlwy . 100dg 14| N=5 ((Pnnbuwihth hhnpnpinhin) < uput 0,00 20
221] 33631380|Uhnnlwyd p/w n/h 50dg N230 wnnjwbphanuh hhnpnpinphn 4<  jhuwp 0,00 390
222] 33651150|Uhun%pynt n/uy 150 dag N 1 Sinyntiwgny d<  |hwp 152,00 19000 125
223| 33661120(Unn$hu h/p 1% 1dq dnpbht (Unp$huh hhnnnpinphn) 4< |upquy 420,00 25200 60
224] 33631260[3nn 5% 304 nn, < [prlny 0,00 20
225| 33631260|3nn 5% 1y inn. 9<  |jpup 0,00 3
226 33611430{3nnndwnhu n/h 200dg N2100 Lwihnuwh innhn 9<  Jhwp 19,90 3980] 200
227] 33673000]|Lwghyht ppwlwehiutp 0,025% 104 opuhdbitnwgniht (opuhdbitnwgnihuh hhnpnpinphn) A< [Hwynu 0,00 5

-



228| 33673000 Lwghyhtu ppwlwehjubp 0,05% 104 opuhdtitnuigniht (opuhdbnwgnihuh hhnpnpinphn) < [Hjuynu 770,00 11550 15
2291 33661133|Lwynd n/h N210 ibnnnww, bwpphnnuw . ql hwp 101,00 66660 660
230} 33691144| Lwunphnuwh phnunybwwn 300dg/d; 5d; Ne10 uwwnphnwh phnunybwn a<  fupduy 43,55 87101 200
231} 33691135| Lwwphnuwh hhnpnlwppnuwwn 8,4% 204) Lwunphnwh phliwppntwwn F< |Hrwuynu 963,00 19260 20
232} 33691136]| Lwuwphnwh pinphn widy. 0,9% 54d; N=10 bwwiphnwh pinphn < |upduly 31,1 466651 1500
233] 33691136 Lwuwphnuwh pinphn indnye 0,9% 1004 uwwphnwih pinphn 9l |whwpe 162,00 64800, 400
234| 33691136|Lwwnnhnuh pinphn INWnype 0,9% 2504 uwuwphnuwh pinphn Q< |uthwp 162,00 324000 2000
235] 33691136]| Lwwnphnuwh pinphn jndnye 0,9% 5004 uwwphnidh pinphn < |u/thwp 166,00 298800 1800
236! 33691136l Lwunphnuwh pinphn Ndnye 10% 504 uwuwnphnuwh pinphn < |uyhwp 550,00 4400 8
237] 33660000|Lwwnphnidh opuhpwin (nd/utip 200dg/d| 10d; N10  |uwwniphnuh opuhpwin 9<  |upduly 0,00 20
238| 33698300|Lwphub n/h Ne50 q<  |hwp 23,00 41400] 1800
. ubiphyniny {ubppdninih hhnpngn ,
239| 33691205 Ubphjin Myniu 5/12,5 Ne28 hhﬁrrllr{.ntntw(n m:{t‘}‘ihlnlh hnnnpinphn) ac |hur 10010 ol 11
. rhwdht (phwdhuh hhnpnpinphn), whphnopuht
240] 336T440] Ltynnnniphl wihug SN (whnhnopuhtih hhnnnoinnhn), ahwbinbnewiudht < jupquy 0,00 50
241] 33651261 Lbdhapwint_n/w 500dg N256 twihnhpuwpent < |hwp 151,50 25452 168
242] 33611380 LhUnunhuwppnt jmd/ubp 10da/d; 14; uhlininhtiwppnt 9L Jupquy 0,00 50
243| 33691232|Lhdbuhi n/thnoh . 2g N230 Uhdbunyhn 9<  |thwphbp 93,17 19565 210
244| 33661700|Lhjwihu bbpwpldwl jndnye Sda/d),1d) Ne10 quiwuwnwdht (quywuwnwdhtuh hhnpnpinphn) G fupduy 508,90 15267 30
245| 33621360|Lhwpn . 5dg/d) 20) Neb uhwnnathgbiphtu 9L Jupfuwly 0,00 30
246 33621360 Lhwpngihgbphtu-UU n/h 0,5dg N240 athgbiphih tinbhwnpwin §&  |hup 7,80 1560 200
247| 33621750| Lh$bnhwhu npwdt nh/pw 10dg Ne50 uh$tinhwhu 9<  |hwp 13,71 8226 600
248| 33651280|Lhdnipndbn 220da/54; 1004 uhdnipopuwighn 9<  [puynu 1998,00 179820 90
249| 33640000/ Unthghu n/h 400dq N20 unpdjopuwight 9<  |hwp 0,00 220
250] 33611170 Ln-Cww wuw. 40dg 24 Ne25 npnunwdbipht (npnunwdtiphtuh hhnnnpinnhn) < |unyuly 52,00 28600 550
251 33611170/ Ln-Cww n/h 40dg N2100 npnunwybipht (npnunwdbphuh hhnnpnpinphn) 4<  |hwp 6,50 4550( 700
252 33661170| Lnynywhu wdyy. 0,5% Sdj N=10 wpnlwihu < Jupyuy 31,11 15555 500
9 wnn{wjht
253| 33661170} unynlywyhu Mdnye 0,5% 2504] . ac  |uypup 504,00 40320 80
254| 33631290|Lnipndbuh ndnye 1004; hpnunndbu Q< |pwynu 770,00 34630 45
255] 33621540| Mwwwubpht wdw. 2% 24} Ne10 wwwwbphuh hhnpnpinphn 9<  |upduy 30,60 24480 800
1343681

256] 33621540| Mwwwybphtu undhly 20dg Ne10 wwuwwybnhuh hhnpnpinphn, Q< [undhy 0,00 50
257| 33661122 Nwpwgtitnwdn) n/h 0,5g Ne10 wwpwgbunwdnj < |hwp 5,70 3990 700
258| 33661122[ Mwphyw jndnype Y/ubp 1% 504 wwpwgbinwdng < |yyhwp 1280,00 25600 20
259| 33661122 Nwphyw |ndnype Y/utin 1% 1004 wwpwgbinwdng ac  |wytuwp | 2200,00 66000 30
260| 33661200|Mbtunwghti L n/h Ne10 dbnwdhgni (dbwnwdhgng bwwnphnud), wwpwgbnwdng,

Undbht, Pttinpwpphinwy, Ynnbht (Ynnbhth dnuduwwn) a<  |hup 0,00 100




Yundwunun nbinuwnn, wwnphue ninwwnny, wiwuniju

261] 33621320|Mbtpubu n/h N240 binw
\lfi?:ﬂi::]-: {'\r:}érinn“c melicca afficinalic mentha ninerita 9  [hwp 47,25 18900] 400
yhwwdhu A, yhrnwdhu D3, yhunwdhtu C, yhuwdhu B,
262{ 33611341|Mhynyhin wywuwnbin Ne30 yhwnwdhu B2, yhwnwdhu B6, yhunwdhu B12, Jhunwdhu
PP, yhwwdhtu B5, $njwpent, Yuighnw, $nudnp a<  |hwp 0,00 300
263| 33691186 Mhpwgbitnwy wdw. 20% 5d) N=10 whpwgbnwy < upquy 37,50 31875 850
264| 33611390| Mhphnnpuht wdw. 5% 1d; N210 whphnopuhth hhnpnpinphn, 9<_ upyuy 16,80 38640 2300
265| 33622000(Njwyhkndp UU p/wy n/h 75dq+75dq N230 Yinwhnngpt, wgkinhjuwihghjw-pent q<  |hup 305,24 128200 420
266] 33661112[ Min$hin. Uhpe 1% 10ug/uj 204 N5 wpnuwn$ny < |Plwynu 620,00 18600 30
267] 33621250 Minjhayinyht (nidnye 2504; nbipuinpwl (nbipunpuwu 70) L Juyhwp 1220,00 30500 25
utindhghtuh unydwn, ynihdhpuht £-h unydwn,
268| 33671120 Mnjhdptwpu N12 uhumhﬁl; hf;J thwun, wnifdhpuhl B-h unyd ac lonint 398,33 23000 60
269] 33621310] Mpbinnihunwy U n/h B/w 3500 Ne60 inphdbinwghnht (nphdbtnwaghnhtuh nhhhnpnpinphn) 4<  fhwp 25,90 7770 300
270] 33621460] Mpbuwnwuu n/h 5dg N230 whbphunnwphih wpghuht, wdinnhuwht a<  |hwp 177,80 26670] * 150
271] 33621480| Mnbiunwphnw! n/h p/w 10dg N230 whinhunnwnhj (whphunnwnhih wpahuh) G<  |hwp 148,00 22200 150
272| 33661147 Npnqbiphu-Ywpupqu 0,05% 1d) N10 ubnuinhauhl < Jupquy 43,10 4310 100
273] 33641000| Mpndtuwnndb) nnunnn 1% 80q wpnabiutnbpnu < Jwwnlyms 0,00 S
274| 33622500| Mpnlinn-gihybung 400dq Ne10 wphpbunghn, thnnlwiht < |dnuhy 306,50 9195 30
2751 33661123| Mpndbinni-2L_ 20dg/d; 1d) N2100 pphdbwbinhnht (ephdbwtiphnhubp hhnpnpinphn) G<_ |upyuly 780,00 15600 20
276| 33691176| Mnnunpwu n/h p/w_50dg N230 whphpkinh) <  |hwp 175,38 21046| 120
2771 33671121 Mpnunwpanih jndnye 2% 154 wpdweh wpninkhbwwn 4<  [$uynu 0,00 5
278| 24311530| Mbipkighnpn; 33% 304 opwdlh whpopuhn < |prulnu 0,00 10
279] 24311530{2pwduh whnopuhnh ndnye 3% 1004 opwdlh wlipopuhn a<  |hiwlnu 0,00 180
. Uwwnphnuwh pinphn, Ywihnwh pinphn, bwnphnuh
280| 33611220(Ntghnpnt n/thngh 18,9g Nei it whenin cambin o< [iuwpbp 240,00 192000] 800
281] 33661136|Nhjwuhnd 5dg/1d; 2d) Ne50 nhwabwwd q<  |upduy 78,00 35100 450
o 2uwdlwl ywpnh o, SeuhEdnpht (puptdphup
282| 33621660|Nthd ninhnwnhpwhtu 60dg+5dg Ne12 R, ac  |undny 0,00 36
11283| 33621250| Ntnwnihaunyht jnidne 2504 nhipunpwl {(nEpuinpwl 40) a4l |wipwp 1620,00 32400 20
284 33691129(MNhugbp [nwdnype 2504] Uwuwphnuwh pinphn, Yuihnwh pinphn, Ywighnwh pinphn o |uyhup 170,00 161500| 950
913996
285| 33691129|Nhugkp |ndnye 5004) twwnppnwh pinphn, Ywihnwh pinphn, Gwighnwh pipphn a<  |uwytpuwp 170,00 132600] 780
286] 33621641|Nthdwun; n/th 0,1g, 1004 Erwlphnhub jwlnun A< |pwynu 0,00 70
2871 33671113|Uwpnunwing n/h 2dq N224 ywipninwdng 9<  |hwp 13,00 7800 600
288| 33671113|Uwpnunwing gnnwghp 104 uwpninwdng (uwipnwnwdnh unybwn) 9< [$uynu 995,00 24875 25
289| 33691200|Ukuwntipuh n/h 70dg. Ne10 ubiinghnubip A, B 9<_ fhup 7,50 5250( 700
290| 33621410|Uhdaw; n/h e/w 20dg N228 uhdwuinwwnht Q< |hwp 0,00 140
291] 33661700|Uhdwuweh) n/h N240 Fonighw, wnGkuh, dwgubghnwh dwp opuhn 4<  |hwp 50,50 8080f 160




292| 33631000|UhtuwSiuiuh punp 0,025% 15q $ininghtuninuh wabinthn A< fywpymb 199,00 1990 10
293} 33651135{Uhuwinndhghtu 5% 25 g pinpwddtuhiyny G4 Jwywplnié 0,00 S
294! 33651135|Uhuwnndhghti 10% 25 q pinpuwidbtithyn < (wwpynib 0,00 10
295] 33611000|Udtilytinw 3a N2 30 nhnudblinhun < Jhwptp 168,00 10080 60
. wpniuwnpwdwindhs uwhunwlnigugbnd' hnpeh
296| 33691240|Unynubiphy wuy. 5] Ne5 pint vt ac |y | 100385 215771 20
297| 33691240|Uniunutinhy et dwdnil 2.1250a/q+100q/q 5q | WNMuwnnwidwinidhs uyhuwlnguiqting’ happeh
Ly nhL . /q /4 59 wniniha, wimbnnbwn 600 9L |wuwpynié 2195,67 6587 3
208| 33691240 Unynubiph| |wpniiwwnpwdwindhs uwhunwlniguqgbind' hnpeh
nnunnn gk 4.15da/a. 20q wnintuhg < |wwpynis |  1768,80 8844 S
299| 33671115|Unybnlwibnlwihu 10% 2u; N210 unybnliwdbnpwpent, wpnbwihuh hhip Q< (upyuwl 56,00 14000{ 250
300] 33661144|Uniypwuinht wiuy. 1) Ne5 pinpnwhpwdht (pinpnwhpwidhuh hhnpnpinphn) q< upquy 274,00 54800| 200
301] 33661144]Uniypwutnhu n/h 25dg N220 pinpnwhpwdht (pinpnwhnwidhuh hhnnnpinphn) Q< |hwp 41,16 14817 360
302| 33661125|Unyuiquwunnt nyh Ne20 dbunwdhgn (dGwnwdhgn) bwwnphnd), whuindtunu
(whwndbiunuh hhapnpinphn), $tuwhybphupnud ppndhn | g0 11,38 9104| 800
303| 33631250|Uwjhpunn- pdowlwt 70% 2504 Fpwun A< [prwynt 350,00 14000] 40
304] 33631250{Uwihpin- pdolwlw 96%!1 tpwln < (Pulynu 1080,00 64800 60
305| 33631250]Uwhpun pdoywlwu 2ho 96% 0,5 Fpwln a<  [huynu 620,00 27900 45
306] 33631250|Uwhpun pdoliwlw sho 96% 2504 Fpwin 4<  [$rwynu 370,00 3700 10
307] 33651400{Uwnpbiwuhju jnquiiutin N224 (Jbnp b Yhupnt) 2, 4-nhpinpnptiughy uwhpwn, wdhjdbuwlyplign a<  |hwp 62,11 11925 192
308]| 33691210{Unpndwunht 4 . 0,0025% 1) N210 unpndwiunhl Y < Jupduly 38,00 15200 400
309] 33621270{4wihnn; n/h 100da. Ne10 undtupnih (ndnyp dephihandwitnhw-wnnid < |hwp 0,00 800
310] 33621280 dwynunpnhu 2ohYy 204 Shunpwpphunwy, Eehipnnihgnwibphw-uwepnt G<  [$rulynu 1058,45 21169 20
311] 33651400|dwjunpbipu n/h p/w 500uq Ne10 Juwjwghlyndhp < |hwp 492,00 9840 20
312] 33621110| dwpdwpht Lhyndtin n/h 3dg Ne100 Jundwpht (Jwpbwpht bwwnphnud) 9<  |hwp 0,00 200
313] 33621730 Ybpwwwih n/h p/wy 80dg N230 Jbpwwwdhy (Uspwwwihih hhnpnpinphn) 9<  |hwp 0,00 90
314] 33621620|4bpnowhpnt n/h 25dq N220 uwhpnuniwywnnu < |hup 35,00 7700] 220
315| 33621620|Ubpnowhpnu n/h 50dg N230 uwhpnuniwywnu G<  |huwp 64,60 63954| 990
316! 33662100]Lhawnbipuw 5dq/dj+1dg/d, dopuhdiopuwgh u(dopuhiopuwghth hhnpnpinphny),
S winwunnhbb undwls nhouunibmwants inbouwdbewanubh Snubuin) A< |Dwynu 235444 21190 9
317] 33621190|Uhlwuni wdw. 10dg/d) 1d; Ne10 dkuwnhnuh twwnphnwh phunybhn Q< jupduy 0,00 200
Yhwwdht D-3 9pwht ndnye 10d;  375dYyg/d;
1 33
318| 3367360 (150001 A0 PunibuighbtinnL Q< funquiy 672,00 53760) 80
phwdht (phwdhuh hhnpnpinphn), nppnbwyht
319| 33611440|4hwnwdhu B hwdwihp wdw. 2d; Ne10 (nppn$iwyhup bwwinphnwwlwt $nudwin), whphnopuht
(whphnopuhth hhnpnpinphn), Uhyninhtuwdbn ac  |upduy 149,95 19493| 130
320! 33611440|dhnwdht B hwdw hr/w Ne20 rhwdhth hhnpnpinphn, whphnopuhtp hhnpnpinphn,
h h ihn n/h Ry ahwunbnnununihty, uhbninhtiunihn 4L |hwp 0,00 60




phtnwlwpnunbit, Jhuwdh A, hinwdht D3, yhinwdhu
E, yhunwdpu C, Ypnwdht B1, Yhunwiht B2, nhunwidht
B6, uhynwnhuwdpn, hinwdht B12, $njwpent, phninhy,
wwuwnpblwpepent (Qwghnwh ywinnpbuwwn),
321|  33611341|dhuwnpnud Mpbiunw) Snpint n/h Ne100 jnnny Yuighnw (Ywighnwh Ywppnuwwn), dwqubighnud
(Jwqubtighnwh opuhn), tplywpe (GpYweh $nwdwpuwn),
wnhtd (wnudh opuhn), ghuly (ghtihih opuhn), dwbiqut
(Ywugqutp uny$win), ppnd (ppndh pinphny), dnihpbu
(uwwnphnwh dnihpnwwn), ubjbl (Gwnphnwh ubEbww), < |hwp 89,27 35708| 400
322] 33631310} dnjnnwpbu Ednygly 10dg/q, 20g nhlyndbuwly (nhlynpbuwlh nhkphjwdhy) A< |wwpynis | 1854,40 18544 10
323| 33651253|Swiopuhdbiu Epbt n/h 20dg N230 inwdopuhdbit (nwdopuh$bih ghinpuwn) QL fhup 64,00 23040 360
324| 33621210{Swpnhdbipnu n/h p/wy 80dq N=30 bplweh unybwin a<  |hwp 0,00 - 60
. dbwnwdhgn; (Whinwdhgn| bwwnphnu), nphwgbinnwdht
325| 33661200|Stdwwght n/h p/wy N220 b o< |hup 30,58 18348] 600
326| 33661154|Shunpwlwiht 1% 104 Net nbinpwlwiht (nbinpwlwihuh hhnpnpinphn) 9<  |pwlnt 0,00 5
3271 33661152 Stinpwghlyht whtwpunily 1% 3q wbnpwghlyht 4<¢  |{wwpyns | 500,00 5000 10
328| 33661152 Stunpwaghbiht n/h p/w 0,1q Ne20 nbinpwaghlyht < |hwp 0,00 200
329] 33661152|Skupwahlht punty 3% 15q inbiinpwaghlht (nkwnpwghWhuh hhnpnpinphn) 9<  Jwwpyni6 414,40 8288 20
inbipuhnwqny, ubindhght (ubndhghth unydwwn),
330| 33641000|Stpdhuwt htionng. n/h N6
ek Chunul, uptrbhanet (unfkhanet s |wn | wots|  ave| 0
' . tpYywpe (EpYweh gyniinuwwn), Jwuqui (Jwlquuh
331] 33621210| Snu'chuw lmémj[a tduy. 100, N:20 annibniunn), wnhud (wnush arntintiuiund < upyuy 112,80 15792 140
332| 33631370{Spwlphnid wiw. 10da/d; , 2,50; N25 winpwyniphnud (wiinpwyniphnuth pbghjwn) < |upquly 800,00 120000) 150
333| 33691226|Spwiwnn wdw. 100dg/24d), 24; N5 inpwdwnny (tnpwdwnnih hhnpnpinphn) Q< jupqul 104,00 41600 400
334| 33631285{Spwubpuwd 50dg/d), 54 Ne10 unpuitipuwdwpRnt < |upquly 1656,80 16568 10
335| 33631285|Spwubipuwd n/h p/w 500ug Ne10 npwibipuwdwpent < |hwp 366,60 3666 10
336| 33631470|Sphntind punip 15 g phnwdbipwgnu (phnwdbpwanuh nhypnwhntwn),
Yinuinphdwqny, gbunwdhght (qEunwdhghth unyduin) a<  |uupyns 865,00 4325 5
. whphunnwphi(whphunnwphth wpghtih),hunwwwdhn,
337| 33621764|Sphuwhpuwd n/h p/wy 10dg+2,50q+10dgq N30 winnpuhls (wijnhuhth pahjwn) ac hwp 245,50 29460 120
338| 33691215/ 8tpbppnthght widwy. 54) Ne5 whunhnubp tungh qifuninbinhg 4< fupduy 2175,00 32625 15
o dewnnynypwdhn (dinnyinwpwdhnh hhapnpinphnp
339 33611160|Skpniyw| wiy. 10dq/2d; N=10 dnhnhhnnmm\h ac |upgut 51,44 23148 450
340| 33611160|Stpniyuw) n/h 10dg Ne50 dbwnnynwpwidhn a<  |hwp 0,00 50
3411  33651116|836Swaniht v/6 L 9/d upd. 1g gbbwaniht (gEbwgnhuh bwwnphnuiwlwy wn) A< |plwynu 157,00 47100| 300
342 33661122/3L$bunt T dndhly 0,05q Ne10 wwpwabnwdn : a< _ [undhy 49,68 4968 100
343| 33661122{353LUnu Y+ dndhly 0,1g Ne10 wwpwgbtnwydn Q< Jdndhly 56,49 14687) 260
344| 33651118/ 836bunphwpunt Uk W 0/d uny. 1g gtibinphwpunt (gEbuphwpunup bwwnphnud) A< |prunu 155,00 248000] 1600
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345| 33621240|8huynpwiwiht wdw. 0,5da/d) 1dj Ne10 ghwnynpwjwdht < |upduly 0,00 170
346| 33691222{Shuwphght n/h 25udg N250 ghuwphght q<  |huwp 121,29 97032) 800
347] 33631150|8huly puniy 10% 25q ghulh opuhn ¢ |wwpynd 0,00 5
348| 33651134[Shwpndinpuwght n/h p/w 500dg N10 ghwpndjopuwahuh hhnpnpinphn 4<  jhwp 35,66 14264 400
nhnhdnfwpwniu Ynpniuwdnp, puppty iGqulwynp,
349] 33641000 ?eh;::zqu/hgiso1?35udq+12?jdq+16dq+ wnpnt upnwaly, wiuhjwupbu wihwpe, hphnunnn
g+ + + ,
4 4 lnuubqbq{lh,qulinhnhhu:ydrlwrfannqb, dnudht dwppdws, R 36,34 soa7e| 1400
350 33640000|Nunpndbunwu n/uy 100dg Ne28 wpngbiunbipnu <  fhwp 118,85 14262f 120
351 33691176|Lwihniph |ntn 100dg/u), 304; pwihnin < [puynu 0,00 10
352 24451150(Linpwihtu A 0,3Lg d<  |hwpbp 0,00 50
353| 33611120{LJwdwwnb) n/h p/w 20dq Ne28 $wdninhnh 4L |hwp 0,00 112
354 33611120|LJwdwwnb) n/h p/uy 40dq Ne14 Swinwnhnhu 4<  jhwp 0,00 70
355| 33611120|LJwdwwb) 72,8 dg upy 20dg N5 dwinwhnhu A< fupyuly 930,24 93024 100
08h hwlwpenyu /Utunhgynipght/ 10d) Net
356| 3365192 " l 9<_ |unduy | 102000,0 510000 5
357| 33611100|Odtiwpwany n/uy 20dg N30 odbwpwany 9<  |hwp 12,00 15120 1260
a58| 33621542 Ot 2% 1 wwwwybpht (wwwwytphuh hhnpnpinphn),
nunl 27 1Uuq nntiht, dn dn h nphn), ,
ihﬁ.ﬂm. ndht (dnpdhtp hhnpnpinphny), tnuljuiyht ac  lomgut 455,00 2750 50
359| 33691176|Oujwnbipu nidnye 6% 5004 hhnpopuhtehi oujw Gl [pwynu 1680,00 13440 8
360] 33691176|0pubhpnw) n/uj 30dg Ne20 yhuljwdhu Q< fhwp 0,00 200
361] 33641100|Opuhuninght wdw. 1dj Ne10 opuhwinghlu Q< |upduily 50,00 30000] 600
362| 33671116/0wnphdht peh Uweh; 0,1 % 10 4| puhindbiinwagnihuh hhnpnpinphn Q< |plwynu 0,00 /
363| 33671116|0wphuht pph Yweh; 0,05 % 10 4| puhindbunwagnihth hhnpnpinphn G< |prwynu 0,00 5
364| 33651100 Ownhwwlu wywuoh Yweh) 15 J) $buwgnu, thanbuwiht (hnnbwihuh hhnpnpinphn) 4< |hwynu 1747,80 8739 5
365| 33631300{dwunnid k| nnunnn 25da/q, 30q Ubwinnwpndb A< |wwpynis 640,00 12800 20
366| 33691186|bhawd n/w 400ddg+25ug,N260 whpwgbwnwd, ghiwphght 4<  |hwp 28,84 18169 630
367] 33661114| Sbumnwuh) 0,005% 2dg $blnwlhy 9<  [upduy 420,00 84000 200
368| 33621210{bbpnut LY dwdbjnt n/h 100dg Ne30 tplwpeh (1) hhnpopuhnp b wnjhdwinngh hwdwihp < fhup 103,50 6210 60
369| 33621210|Sbpnid LEL J/J wdw. 2d; N25 bpYwpe (I1)-hhnpopuhnh nbpunpwtwiht hwdwihp G<  Jupduy 630,00 37800 60
370] 33671125 $jwydwdkin 15dg/5d; 1004) wdppopun) {wdppopunih hhnnnpinphn) G<  |$wynu 668,00 6680 10
Ywppnghuwnbht |hghtwwn (Quppnghuwnbhu Uwn
371| 33671136|Bnth$npin 90Uq/T 404 dnnf'nphhgmmmt‘ b ppnghuwnBhl thaptunnh | surs | 340000 a0l s
372| 33671136|Dnthnpin 90ug/T; 1200 mf‘nph"ihjt‘ﬂm hqhtwwn (Yuippnghutnbiht thahtwnh 4 sutn | 4586,00 22030 5
373] 33651150| dinynungny n/uj 50dq N=10 dnyntiugny 9<  |hwp 58,00 28420] 490
374| 33631000(dnghuwn puniy 15q $ininghtininuh wgbitnnuhn A< |wwpln 375,00 1875 5
ndjopuwght n$jopuwghuh hhnpnpin ,
375| 33671118| D npuwnbipu whwugh/wsph n/Ywiunyp 104 iﬁﬁ?mqgtsmoﬂ] (ghwipniopuwightih hbnpnpinphn) a< |ty 1831,19 47611 2%
376| 33610000{Snudwynigh 16g Ne20 wyinwhuhnuwih dnudwin 3¢  |thwpbp 140,55 14055 100
377 dnwppnt n/h Sdg N48 dnjuippnt 9<  fhwp 0,00 90

33621230



378] 33610000|bnpwpu n/th 10g N=20 dwlypnan (duwypngnj 4000) q<  |thwpbp 138,33 22132 160
379] 33651146)Bnipwanihnnu n/h 50dg N=10 $nipwanihnnu < |hwp 0,00 300
380/ 33651128|Dnipwnnupt n/h 50dq N210 uhunpndnipwitnnht ] 4<  Jhwp 0,00 400
381 33621590|Dnipnubdpn wdw. 1% 2d; Ne10 $nipnubidhn q<  |upduly 26,00 20800 800
382| 33621590 dnipnubdhn n/h 40dg N250 dnipnubdhn o< |hwp 3,13 1565 500
383| 33691223 |dpwpubwwnhu 0.34] (Wwuw. ubpwnplhsnd) N 1 vwnpnwwphup Jwighnwwluwt wn 9<  |huwn 1910,00 9550 5
384} 33691176{dbLuhunh; Ywph 0,1 % 20 4 nhuitiinnhunbuh Jwibwn < |dlwynu 0,00 S
LLAHUUGBLE EINPU3L 17782173
pdCHLULUL NUQLUSULER

385] 33191520|Upjwu thnfutbpwpldwu hwdwywpg 150ud 9<  {hwwn 43,50 182700 4200
386| 33140000|Upunpptiicn CO2 bwpyngh wwwpwwnh hwdwp 9<  |pwynu 0,00 1
387] 33131110]Uyjdwuwnts gyfuhl "Sharp" 9<  |hwn 195,00 5850 30
388] 33131110{Ujdwuwnt qifuhly ninhn dwinwlwih hwdwp < |hun 350,00 1750 5
389| 33131110{Uuybpwihu nubtigod snnhduntip 9<  |huwn 60,00 1800 30
390] 33141118]Uustinnghy uwnbiph; 16x14 ~ N210 wnnuh 9<  |wnuh 95,08 47540 500
391] 33141144|{Uubn 22G 9<  |hwwn 5,67 8505| 1500
392| 33141144]Uubin 23G 9<  |huan 5,67 2835 500
393| 33141145|Uugqqwwugiwl wubinubp Uwhuw) G25 < |hwwn 174,00 2610 15
394] 33141145|Uugquiwgiwl wubnubn Uwhuw G27 Q< fhwn 174,00 2610 15
395| 33140000|Unwplywiwywu wwwlh 94 |hwwn 7.50 1500 200
396( 33410000{Updwwnwihgph [gnuhs N5 wnnuh Q< |wnup 500,00 10000 20
397] 33141136]|Upunwddhs wpbitnp N8 ST [T 55,00 275 5
398] 33141136{Upnwddhs bwpbup N210 q<  |wnuh 55,00 275 5
399] 33141117{Pwdpwl 100a thwip. G<  [hunn 168,00 50400 300
400 33141117 Pwdpwy 50q hwp. q<  |hwwn 87,00 17400 200
401| 18443310[Ptpbwn 9<¢  |hunn 12,40 2480 200
402| 33141194[Pnmidhs ubpnhp "“Ywiabijwie"wnith Ni 9<  junuh 2300,00 4600 2
403] 33141160{9%t) unungpwdh 250g jwynu A< |hg 265,00 10600 40
404| 33161220|%hublninghwlywl swwnb N100 q<  |wnuh 750,00 750 1
405| 33131340|%hutiyninghwlwt hwikih Q< |hwn 90,00 9000 100
406] 33141185|%hwu dbkid 20udx3d 9<  |hun 314,00 31400 100
407] 33141129{thdwl pd.nbdph nbghuny 3-9bknwn12,5x50 9<  fhun 13,40 8710 650
408| 33141194 HYhwdhi 5x4 ¢ Ywd hwdwndbp wnnuh <  |wnup 16500,00 33000 2
409] 33141100 Drager 6510 wiynwinbuwntiph dwjpwlywutp ac

(MvHDIITVK) hwwn 0,00 25
A10] 31651200|E4S -pnine 60x30 Q< fhun 400,00 28000 70
A1 33141114|(dwughd SJ 9<  |hunn 398,00 119400 300
412] 33151250|(dpdwduh pwpdhly 40 3¢ |hwwn 2633,67 7901 3
13| 33151250|@pdwduh pwpdhy 20 ' 9<  |hun 2387,33 7162 3
4141 33141136|(a¢hphbnuply - wubn G23 9<  |hun 15,99 28782 1800

4151  33141131|dgnun < |hun 240,00 7200 30



416 33141183|huwnnipwghnt junnndwly Jwudbinny # 2,5 a<  [hun 240,00 1200 5
417] 33141183 |huwnnipwghnt lunnnduwly dwudbnny # 3,5 Q< |hun 240,00 1200 5
418| 33141183|huwnnipwahnt lunnnwl dwudbwnny # 4,5 q<  |huwn 240,00 1200 5
419] 33141183|huwnnipwahnt lunnnywl dwudbnny # 5,5 Q< |huwn 240,00 1200 5
420 33141183{huwnnipwghnt funnndwly dwudbnny # 6,5 < |hwwn 230,00 5750 25
4211 33141183 | buwnnipwaghnt funnndwly Jwudbnng # 7 9<  |huwn 240,00 1200 5
4221  33141183|huwnnipwghnt fjunnndwly dwudbnnd # 7,5 < |hwwn 229,00 229001 100
423} 33141183 |huwnnipwghnt lunnnduwly dwudtunny # 8 < |hwwn 230,00 5750 25
424 33141194 Lnwwiht windpwunye 4,5x7 (dbppbiuwn) wnuh 9<  |hwwn 25000,00 25000 1
425] 38652200|unonpwgnug nyuny nipdwwnningh 9<  |hwwn 0,00 2
426] 33141100{cwdlwuwlh 24x50 |Gyndnpdnywih npnodwl a<  |hwwn 0,00 100
427] 33141136|4wptinbp Gpwlwihu 2-20 (Jwpnwgnyu) 9<  |hwn 0,00 300
428| 33141136 4wpebwnbp bpuluwihu & -22 (Gpluwany) < |hwwn 19,15 13407 700
429] 33141136 Ywpbnbp bpwhwiht 2-23  (Guuwniwn) 9<  |hwn 77,53 31010/ 400
430] 33141136|4wpbubp bpwlwihu 2-24 (nbnhu) q<  |hwwn 58,00 23200 400
431] 33141136 4wpbwnbp Gpwlwiht Q-25 (bwptuowanyl) 9<  fhwwn 383,20 19160 50
432] 33141137|4wpehwnp dhqwiht bpubinin 8Fr q<  |hwwn 170,00 1700 10
433| 33141137{Y4wpbwup Jhquihu bpy&nin 10Fr q<  |hwn 170,00 1700 10
434| 33141137{4wpebuip dhquwihu Gpybinin 14fr q<  |hwn 170,00 8500 50
435] 33141137 |Ywpebunp dhquihu bplbinin 16Fr q<  |hwwn 170,00 8500 50
436| 33141137|“Mwpbup dJhquiht bpyéinin 18Fr Q< |hwn 170,00 8500 50
437 33141137 |“4wpbnp dhquiht Bphyding 20Fr q<  |hwwn 170,00 3400 20
4381 33141211 4nppw wwwlw q<  |hwwn 0,00 1
439| 33141182|u4pdpwywunwyh Yhpwihnn (npbitiwd) 24 swihuh < |hwwn 0,00 10
440| 33141182|4pdpwywunwyh Yhpwihnn (npttwd) 30 swihuh < Jhuwn 0,00 5
441 33141182 |updpwlwunwlh Jhpwihnn (npbuwd) 40 swihuh G<  |hwwn 0,00 5
442(  33141184[Ypdpwywunwyh npbuwynpdwl uwpp (24h) a<  [huwn 0,00 1
443] 38311000{426np dwulwlywu 9<  fhwwn 39000,00 78000 2
444] 38311000]|49tinp dbdwhwuwlh 9<  |hwwn 24000,00 48000 2
445] 16621100[{4phs wwwpwun deluwthbwlywi q<  |hwwn 4590,33 13771 3
446] 33200000|<bunwhwbunubp 0,02 9<  |hun 160,00 3200 20
447| 33141159|Qtinunqubip ns unbiphy L Ne 1 9<  |hwwn 14,50 75400| 5200
448] 33141159|Qbnunqubin ns unbiph; M N2 1 9<  |hwn 14,50 116000] 8000
449] 33141156} btnunqubin unbnhy N26,5 gnuya %< |qnuyq 88,00 35200,0f 400
450] 33141156]|bnungqubp uwnbiphy Ne7 gnyg 9<  |gqnuq 88,00 264001 300
451] 33141156]|3bnungubip uwnbinhy N°7,5 gnug q<  |[qnyq 88,00 44000 500
452] 33141156]|tnunqubn uinbphy Ne8 gnya 9<  |qmyq 88,00 264001 300
453| 33121180[Buowswih Jbd dwudbunny wpndbuhntiw 9<  |huw 3290,00 98700 30
454 33141173|Utigh pueniudwlu wwpl 9<  |hww 85,00 17000 200
Ubkgh wuwjhgh hwjwpdwt hwwniy wywply
455] 33141130 unnwdhutitinh hudwn ¥ Jhun 63,00 1260 20

\



456] 33161120|Ulpwun Jhpwpnidwlwu thnpp 9<  |hwin 1800,00 9000 5
457] 33161120|ULpwwn yhpwpnidwlwu Jbd 9<  |hwwn 2200,00 11000 5
458| 33141142| Lkpwplhs huunyhuh wubnnd 1d) G-29 40dhwy G<  |hun 12,24 6120 500
459] 33141142 Lbpwplhs huunyhuh wubinnd 19; G-30 100dhwy 9<  |hun 12,24 6120 500
460] 33141142| Lkpwpyhs wubinny 204 G-21 9<  |hwn 26,50 53000 2000
461 33141142| Lbpwpyhs wubinny 24 G-23 9<  [hwin 11,40 102600 9000
4621 33141142| Lpwpyhs wubnny 54 G-22 94  |hwwn 11,50 92000 8000
463| 33141142|LEpwpyhs wubnnyd 104; G-21 G<  Jhwwn 17,70 61950} 3500
464| 33151200 Lbpguswihnnuihtu funnnjwlubip (npwubinuinndhl) q< bt 0,00 10
465 33141183|2nun Lwgnquuwnyg Q< |hun 48,00 1920 40
466] 33141157|tbnp dhpwhwunwlw swihup 10 Ne100 winup Q< |unuh 1700,00 5100 3
467| 33161220 Cwjwwnb) thwjnbt Ne100 wnnuh 9<  |wnuh 477,33 19093 40
468| 33151220|Cuswnwlwu nhdwl prywduh hwdwp (Kwnunuh) qc b 0,00 10
469 33121270| Mpwjwyhwby wywnndwwn 20 thip 9<  |hwn 35000,00 210000 6
Mpwph|Gw™ swihhy uwunnuyny , wwwlt
470 33140000 ghtunph®miguih < b 105,00 21000 200
4711 33141120| Mnpuwubinuhs q<  |hwwn 31,00 3720 120
472 33411560 Mnywntpuwmpwlpunnp N 100 innuh q<  |hwwn 3500,00 7000 2
473] 33140000|Rbnwy (rpenka) b-1 1thwn < |hwwn 1313,80 6569 5
474| 38411200]2b6pdwswih "Uwpu" wjwuwnhy innwhny < |hwwn 259,10 7773 30
Muwngbt dwy. pwiht wywpwwh 30ud x 40ud
475| 32354110 q9<
(Luwibwid) N100 innith puwihl wwwnuiinh unnuh 20800,00 20800 1
NEuwngbu dww.pywiht wwwpwwnh 35ud x 43ud
476] 32354T10 (Lt N100 innith ¥ winuh 27000,00 108000 4
NEuwngbt dwy.pywiht wwwnwnh 18ud x 24ud
477 32354110 q<
(Lt N100 innuh wnith 7500,00 15000 2
MNGuwngbit dww.MXB 24ud x 30ud (Ywuws) N100
478| 32354110 . 9L i 12250 00 12250 1
Nbuwngbt dwy. Unwdh E nbuwyh 3ud x 4ud
4791 32354110 NIEOtmh q< i 17900.00 17900 '
480] 33140000|N0O6-h whwbwnljw 9<  {hwn 160,00 8000 50
Uwywuubp dhwugwdjw ogunwgnnpddwl
481| 39518300 Q0RO R 234,00 14040 60
482 33141143|U4wphdhlwnnnp w1 N 200 nintth q<  |wnuh 720,00 10800 15
483| 33140000|Unungpwdh pninp M-91  /110dd x204 / Q< |hwn 4400,00 13200 3
4841  33141111{Uwbinwuh Yunnphg hwlhwwitipghy 5x500ud 9<  |hwwn 265,00 563000 200
485]  33141112|Uwhbnwuh Ynownnyutph nbd Ne5 puwdpwlb 9<  |hwwn 292,50 5850 20
486{ 33141112{Uwbinwuh wynuwbnwiht 12ud x 18ud Q< |hwwn 193,40 3868 20
487 33141111 Uwtinwuh Uwuwnwyhy N210 wnntth 9<  |wnuh 43,69 3058 70
488| 33157400|Uwbiubip huhwjwghwih hwdwp 9<  |hwwn 0,00 1
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489| 33141100|Uwhpunwiht nwdwnuubp < [innup 440,00 880) pl
490| 33121160|Uyhwulinwh pwtnt 9< [hun 0,00 1
Uhpwpnidwlw phi -0 "dhlphy "75ud N12 inih
491) 33141121 e < i 4968,00 19872 A
dhpwpnidwlw phi -1 "Lhyphy "75ud N 12 winuh
b i R [ s | 5088,00 15264 3
dhpwpnidwlwl eh -2 "Uhyphy "75ud N12 ninwh
493 33141121| MM Sl 5184,00 15652 3
494| 33141121 Uhpwpnidwlwl ph -3 "dhlyphy "75ud N12 ninwh ac
Lunnnn wnuh 0,00 2
Uhpwpnidwlwt el -2/0 "dhyphy "75ud N12 innuh
495( 33141121 e il 4848,00 14544 3
Uhpwpnidwluw ph -3/0 "dhyphy "75ul N12 ninuh
496| 33141121 he Bl a0 _— 4
Uhpwpnidwlw ply "dhyph " - 0, 37dd dwlynn,
497 33141121 g < b 4968,00 24840 5
Yhpwpnidwlwt phy "dhyphy "1, 40dd dwlnn
498| 33141121 qc
wubin 75 N12 innuh nnuh 5088,00 25440 5
dhpwpnidwlw plp "dhlyphp " -2, 40dd dwlnn
499| 33141
i e ¥ lomn | 518400 2020 5
Yhpwpnidwlw phi -1 "Ykingnun " N12 innuh
500( 33141121 Pl el 2808,00 8424 3
dhpwpnidwlwt ph) -2 "4hngnun " N12 ninuh
501|  33uanzi|, PP S s 2808,00 g 3
Uhpwpnidwlwt ph) - 2/0 "Manjku” N12 nnuwh
502 33141121 Fin 9L iz 2808,00 5616 2
503( 33141121 dppwpnidwlwl phy - PDS TM |1 < |nnup 0,00 1
504] 33141110)Yhpwlwuwy 50 x10ud 4<  [hun 54,60 54600] 1000
505 33141110{Yppwluwiuw 7d x14ud < |hun 97,50 176500] 1800
506) 33111210|Swudhyttip htdn tnubinh hwidw 9< [hun 0,00 5
507 33111210|Swushlutin NO6-h whwbtwnlwih hwdwp 9<_ |hwn 0,00 5
508| 33751100|Swynhp 60x90ud N 10 _winuh 4< [wnup 1420,00 85200 60
509| 33751100{Swynhp dwlhwlwt 11-254g hwwn < [hun 85,80 51480 600
510( 33141194|Shnntuw-|hgpwjnie 14 q thnph 8 Uj htinnily winuh qe ki 16500,00 33000 2
511] 33141194 Stidtiwn- niutigkid 100q 9<_ |unup 4500,00 9000| 2
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